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1. Solve the absolute value equation.

|x| =16

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(2 A. The solution set is {

(Type an integer or a simplified fractlon Use a comma to separate answers as needed.)

() B. The solution set is @&.

|x|s4

Solve the following inequality. Then graph the solution set.

Select the correct choices below, and, if necessary, fill in the answer box to complete your choice.

() A. The solution is an interval. The solution is

(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any

numbers in the expression.)

(L) B. The solution set is one or two points. The solution set is {

(Type an integer or a fraction. Use a comma to separate answers as needed )

() C. The solution set is @&.

Choose the correct graph below.

4 4 -4 4
) A. <—|—|—|—|—|—|—|—|—|—[-u-u-u-|--u-]—|—|—|—|—|—|—|—|—|—> . B. <t R e
13 0 13 13 0 13

4 4 4
O C. <O () D, @) ——————>
13 0 13 13 0 13

() E. <G =y ) F, <+ttt
-13 0 13 -13 0 13

3. Solve the absolute value equation.

|2x-11]| =17

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A. The solution set is {

(Type an integer or a simplified fractlon Use a comma to separate answers as needed.)

{C) B. The solution set is @.




Solve the absolute value equation.

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is { -
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
(Z) B. The solution set is @&.

Solve the absolute value equation.

|7n+2| +15=5
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
O A. The solution set is {

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
() B. The solution set is @&.

Solve the absolute value equation.

2x-5 -9
3| =

Select the correct choice below, and, if necessary, fill in the answer box to complete your choice.
() A. The solution set is {

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
() B. The solution set is @&.




7. Solve the following inequality. Then graph the solution set.
|x+3| <5

Select the correct choices below, and, if necessary, fill in the answer box to complete your choice.

(_! A. The solution is an interval. The solution is

(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any
numbers in the expression.)

(L) B. The solution set is one or two points. The solution set is { }
(Type an integer or a fraction. Use a comma to separate answers as needed.)

i_) C. The solution set is @.

Choose the correct graph below.

-8 2 -8 2
) A. <—|—|—|—|—|—|—(-u-—|-)—|—|—|—|—|—|—|—|—|—> ) B. <t++++{o+—++o+—++1++++1>
20 10 0 10 20 -20 -10 0 10 20

-8 -8 2
O ¢. < t+—+++teot++—+t++++i+++++1+> () p. W—%—%
-20 -10 0 10 20 -20 10 0 10 20

() E. <G ey | F, <t+++++t++++++++++1+++++1+>
-20 -10 0 10 20 -20 -10 0 10 20

8. Solve the following inequality and graph the solution set.
|x+4| =20

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(_) A. The solution is an interval. The solution is

(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any
numbers in the expression.)

(L) B. The solution set is one or two points. The solution set is { }
(Type an integer or a fraction. Use a comma to separate answers as needed.)

i_1 C. The solution set is @.

Choose the correct graph below.

-24 16 24 16
O A, <HH e ———————————— > () B. <O O >
30 20 -10 0 10 20 30 30 20 10 O 10 20 30
-24 16 24
i c D, A

-30 -20 -10 0 10 20 30




Ix-4|-6< -1

Solve the inequality. Then graph the solution set and write it in interval notation.

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

() A. The solution set is

(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any

numbers in the expression.)
() B. The solution set is @&.

Choose the correct graph below.

10.  Solve the inequality |6x - 17| + 2> 15. Graph the solution set and write it in interval notation.

Select the correct choices below and, if necessary, fill in the answer box to complete your choice.

() A. Written in interval notation, the solution is .
(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any

numbers in the expression.)

(0 B. The solution is a set of points. The solution set is {

b

(Type an integer or a fraction. Use a comma to separate answers as needed.)

() €. The solution set is @.

Graph the solution set on the number line. Choose the correct answer below.

. <t—+—++t+t+t++++—toe+++o++++i>

-10 -5 0 5 10

. <tH—++—+—+—t+t++—He+++++++++>

-10 -5 0 5 10

<-t—+—+—+—+tt+t+t++t+++++t++++++>
-10 -5 0 5 10




11.

Solve the inequality. Graph the solution set.
-18+|2x-4|< -8
Select the correct choices below and, if necessary, fill in the answer box to complete your choice.

() A. The solution is one or more intervals. The solution is

(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any
numbers in the expression.)

O B. There are only one or two solutions. The solution set is { b

(Type an integer or a fraction. Use a comma to separate answers as needed.)
il C. The solution setis &.

Choose the correct graph below.

|:| A_ |._.| B

10 8 6 4 2 0 2 10 108 6 -4 2 0 2 4 6 8 10
O ¢ o> e
- d08 6 4 20 2 4 66 10 P 08 65 4'950 2 4 6%8 10




. A. The solution set is { 16,-16 }

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

. A. The solution is an interval. The solution is [-4,4]
(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)
-4 4
A -13 0 13

. A. The solution set is { 14,-3 }

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

SN

. A. The solution set is { 8,16 b.

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

. B. The solution set is &.

. A. The solution set is { 16,-11 b.

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

. A. The solution is an interval. The solution is (-8,2)
(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)
-8 2
A -20 -10 0 10 20

. A. The solution is an interval. The solution is (— oo, —24]U[16,00) .

(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

-24 16

Cc. 30 20 10 O 10 20 30

. A. The solution set is [-1,9]
(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

< f—

A 20 -10 0 10 20




2
10. A. Written in interval notation, the solution is [— oo,;} U(5,0) .

(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

Cmmpmpp—" - {——

c. -10 -5 0 5 10

11. A. The solution is one or more intervals. The solution is [-3,7]
(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

B. -10-8 6-4-20 2 4 6 8 10




